5.2: Svstems of Linear Inequalities in Two Variables

Solving systems of linear inequalities graphically:
Now we’ll solve systems of several inequalities.
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We want to find the graph of all ol‘dey\ pairs (x.y) that simultaneously satisfy all the inequalities

in the system. The graph is called the solution region. or the feasible region. for the system. To
tind the solution region. we graph each inequality in the system (this will give a shaded area for
each). The area that 1s included 1n all of them 1s the feasible region.

A corner point of a feasible region is a point in the solution region that is the intersection of two
boundary lines.

Example 1: Solve the following system and find the corner points.
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Bounded and unbounded seolution regions:
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Example 3: Budget Cat Food Company supplies two distributors. One needs at least 200 boxes
of cat food monthly. and the otlier needs at least 400. Budget Cat Food can make 800 boxes at
the most. Write a system of inequalities to deseribe the situation and then graph the feasible

region.
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